
 m1 12  

 m2 25  

 m3 35  

 m5 30  

 I1S 16  

 I2S 1,0  

 I5S 0,6  

 F3 4000  

lAB lBC lBD lEH lBS2 xE yE 1 15 lAB lBC lBD lEH lBS2 xE yE 

0,15 0,46 0,23 0,3 0,15 0,45 0 1 10 0,15 0,46 0,23 0,2 0.15 0,3 -0,25

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 150   1, град 60 120 240 300 30 

 m1 15  

 m2 30  

 m3 50  

 m5 60  

 I1S 15  

 I2S 2,2  

 F3 6000  

 F5 3000  

lAB lBC lBS2 xE yС 1 1   lAB lBC lBS2 yE yC 1 1 

0,1 0,3 0,15 0,3 0 12 10   0,1 0,3 0,15 0,32 0 15 15 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

yc= 0     yc = 0



 m1 26  

 m2 16  

 m3 35  

 m5 30  

 I1S 17  

 I2S 1,8  

 F3 6000  

 F5 3000  

lAB lBC lBS2 xC yE 1 1   lAB lBC lBS2 xC yE 1 1 

0,15 0,45 0,32 0 0,8 16 12   0,15 0,45 0,1 0 -0,5 15 14 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 m1 60  

 m2 35  

 m3 60  

 m5 50  

 I1S 5  

 I2S 2  

 I3S 6,5  

 F5 6000  

lAB lBC lCD lBS2 xD yD yК 1 20 lAB lBC lСD lBS2 xD yD xК 

0,1 0,3 0,3 0,18 -0,35 -0,27 0,2 1 30 0,1 0,3 0,3 0,15 -0,1 0,2 -0,15

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

  lDS3  = lES5  = 0,1
lES5  = 0,1 



 m1 22  

 m2 20  

 m3 50  

 m5 30  

 I1S 25  

 I2S 1  

 F3 6000  

 F5 3000  

lAB lBC lBS2 xE yC 1 1   lAB lBC lBS2 yC  1 1 

0,1 0,3 0,2 -0,5 0 15 10   0,1 0,3 0,2 0 30 14 12 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 m1 2  

 m3 5  

 m5 30  

 I1S 0,2  

 I3S 0,3  

 1 16  

 1 7  

 F5 2000  

lAB lCD lСS3 xC yC yE lS5   lAB lCD lCS3 xC yC xE lS5 

0,1 0,65 0,3 0 -0,5 0,2 0,3   0,1 0,25 0,1 0,15 -0,1 0,35 0,2 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 



 m1 12  

 m3 15  

 m4 20  

 m5 50  

 I1S 5  

 I3S 0,4  

 I4S 0,3  

 F5 2000  

lAB lCD lDE lDS4 xC yC xE 1 18 lAB lCD lDE lDS4 xC yC yE 

0,12 0,24 0,2 0,15 0 -0,24 0,3 1 14 0,2 0,2 0,48 0,24 0 -0,06 -0,06

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 lAB 0,2  

 I1S 1  

 m3 15  

 m5 16  

 m1 10  

 1 10  

 1 5  

    

lCE lCD yE yD m4 I4S I3S F5 F3 lBC lDK xD yD m2 I5S I2S 

0,35 0,5 -0,05 -0,05 6 0,2 0,6 2000 1000 0,6 0,8 -0,4 0,3 6 1 0,4 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

C,S3

lCS4 = 0,15; xE = 0 lBH = 0,3; lBS2 = 0,2; xC = 0 



 m1 20  

 m2 24  

 m3 22  

 m5 25  

 I1S 1,2  

 I2S 0,5  

 I3S 0,3  

 F5 5000  

lAB lBC lCD lBS2 xD yD yK 1 20 lAB lBC lCD lBS2 xD yD yK 

0,1 0,3 0,2 0,15 -0,3 0 -0,2 1 30 0,1 0,3 0,2 0,2 -0,3 -0,2 0,3 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 m1 20  

 m2 18  

 m4 15  

 m5 40  

 I1S 1,6  

 I2S 1,2  

 I4S 0,9  

 F5 400  

lAB lBC lCE lBS2 lСS4 xD yD 1 12 lAB lBH lCH lCE xD yD xE 

0,15 0,5 0,4 0,25 0,2 -0,2 -0,1 1 7 0,15 0,46 0,15 0,3 0,3 0,1 0,35

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

yE = -0,2 lBS2 = 0,35; lCS4 = 0,2 



 lAB 0,1  

 lBC 0,45  

 lCD 0,3  

 m1 30  

 m2 30  

 m3 60  

 I1S 5  

 I2S 8  

xD xE lBH lBS2 lНS4 F4 M3 1 10 xD yD yK lBS2 lCS3 lES5 F5 

0,55 0,25 0,3 0,2 0,25 250 500 1 8 -0,5 -0,4 -0,2 0,2 0,12 0,1 500 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 m1 10  

 m2 30  

 m3 60  

 I1S 5  

 I2S 8  

 lAB 0,2  

 lBC 0,8  

 lBS2 0,36  

xE lBH lHS4 I4S m4 F4 F3 1 20 lBD lEH xE yE m5 I5S F5 

0.26 0,6 0,4 10 30 500 300 1 15 0,22 0,3 0,15 0,5 8 2 1000

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

m4 =60 

yD = 0 
yE = 0 
I4S = 5 

xC = 0 
yE = 0 

yC = 0 

m5 =30 



 m1 20  

 m2 24  

 m3 22  

 m5 25  

 I1S 1,2  

 I2S 0,5  

 I3S 0,3  

 F5 5000  

lAB lBC lCD lBS2 xD yD xЕ 1 20 lAB lBC lCD lBS2 xD yD yE 

0,1 0,3 0,2 0,15 -0,3 0 -0,6 1 30 0,1 0,3 0,2 0,15 -0,3 0 0,1 

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 lAB 0,3  

 m1 40  

 m3 30  

 m5 35  

 I1S 2  

 I3S 1,2  

 1 10  

 1 2  

xA yA lAS1 lCD lDS4 m4 F5 lDE  xD yD lBC lCD I2S m2 М3c 

-0,14 0 0,15 0,1 0,1 35 400 0,3  0,4 -0,7 1,1 0,9 1,6 40 2000

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 120 90 60 30 0 

 

 

 

I5S = I3S 

lBS2=lDS3=lDS5 = 0,55



 m1 12  

 m3 15  

 m5 50  

 yC -0,24  

 I1S 5  

 I3S 0,4  

 lAB 0,12  

 F5 2000  

I4S lCD lDE lDS4 xC m4 yE 1 18 xE xC      

0,3 0,1 0,3 0,15 0 20 -0,24 1 14 0,3 0      

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

    

 lAB 0,1  

 m1 2  

 m3 5  

 m5 30  

 I1S 0,2  

 I3S 0,3  

 F5 2000  

lCD lCS3 xC yC xE lDS5   1 16 lDS4 lCD lCS3 xC yC yE lDE 

0,25 0,1 0,15 -0,2 0,35 0,1  1 7 0,15 0,15 0,1 0,15 -0,2 -0,2 0,35

Вариант А Б В Г Д   Вариант А Б В Г Д 

1, град 60 120 240 300 30   1, град 60 120 240 300 30 

 

m4 = 30  


